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: Attempt A/l Iquestio'ns. .

. “Management Accounting is ﬁothiq‘g élse but ﬁnanci;al and
cost accounting tailored to the requirements. of _manallgement.”
Critically exémine the statement. : 15
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What - do Sfou understand. by Zero Base Budgeting ? How
is it different from traditional budgeting ? Write in brief its

process, advantages and limitations.: - 15
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The fallowing are the figures of sales, cost and profit relating

to a manufacturiné unit working at 50% capacity :

Details Amount (Rs.)
Sales 20,00,000
Direct cost l- P g 8?00,000
Factory overheads : 400,000
Office overheads 2,00,00Q
: Selling overheads . - 3,00,000
P.roﬁt : _ 3,00,000

E\;fery 10%. increase in.sales beyond 50% of capacity is

" possible only.aﬂer reducing the price by 1% on the base

level of 50% capacity sales. Material cost includgd in direct

cost at this level is 25%. With every 10% increase in capacity

above, this level of direct material comes down by 2%. Factory
overheads at this level are fixed to the extent of 50% and

rest are variable. Every 10% increase in qutput over the present.
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level results in E%Iincrease in the office overheads. Selling
“overheads as a ;.Jercent. of ‘s:al;es-re111ain constant.

Prepare a budget at 80% capat-:ityA level cqhs-idering the above
information. _. 15
frefafen siwe wh b swR @ fe, o
aﬂ'{ﬁﬂﬁ%ﬁ‘rﬁso%.&mﬁwmﬁ@

<5

faforfeeat | T (3)
forant I ~20,00,000
TAY AR 800,000
hegl SUfeE 400,000
w3 200,000
foset  3uftea™ 300000
Y g 3,00,000
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(a) Erom the following data, calculate Activity Ratio,
. - Capacity Ratio and Efficiency Ratio :
A factory manufactures two products ‘A’ and ‘B’.
Standard time to manufacture product A is 2 hours and.
product B is 10 hours. The budgeted and aétuél
production in October 2017 was as follows

Products  Budgeted Production Actual Production

i " 125 Units 100 Units
B 30 Units 24 Units
Total actual lhours* worked were 660. ' 9

()  State the main distinction between standard costing and

budgetory control. 64
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& e e s wre s Budgetd sales e Rs. 180,000, You e requied 1
hiteTy I ‘ determine” : : ' e
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ﬁ' faior ¥ AF% 999 25@ % AR ITHE ‘B’ . 5 - The profit at the budgeted sales volume
. . . R o) ! ' .
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A : : o from the budgeted sales. - 15
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3 An analysis of ABC Ltd. led to the following information : : oSSR ==
Cost Element ; Variable Cost ~ Fixed Cost 3 . —
(% of sales) & i _ 12,6 1.89.900
Rs. Rs. ' o wleE 4. 58400
Direct Material 3238 - : SN ISR E e e L1 66.700
= S e 24 - - TS T 18,50,000 % ¥1 sy STE %: fr fFuifg
Factory Overheads _ 12,6 = 1,89,900 . aiil%lq :
Distribution Overheads - 4l 58,400 (31) "qom wR famr
General Administration overheads 1.1 66,700 () wRE famn TRH T ey
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B | 4 A pompany makes an average profit of Rs. 3.95 per unit on
(1) i : ' - , ‘a selling -pric‘le of Rs. 16 per piece by producing 60,000 units I
Caloulate Mitersl Variénces-: ' | : or 60% of the potential .clapacity.. Its costs of sales per .piéce ,
Standard mix for production : : . 7 is-‘: ' | | s 15 |
Material A : 600 units ,' @ 15 Rs. pe.r unit . | . Direct Materidls Rs. 5, Direct wages Rs. 1.65, Works overhead
Material B-: 800 units @ 20 Rs. pér unft _ = Rs. 5 (50% ﬁxéd), Sales overhead 0.40 (25% lvarying).

Material C : 1000 units @ 25 Rs. per unit ‘During the current year, it intends to produce the same number = .

Actial niix:for production”: but anticipates that the fixed charges will go up by 10%, while

Material A : 640 units 20 Rs. per unit L : : e,

l : . _ @ : P the rates of direct labour and direct material will increase by
Material B : 960 units @ 15 Rs. per unit ) i - _
: ' 3.33% and 6% respectively. There is no scope for increasing
Material C : 840 units @ 30 Rs. per unit '

the selling price due to keen competition. Under this situation,

WA F IR (Variances) F1 TORT T
 SEEA W1 HEEEA HET
A A @ 600 SHEA @ 15 & qfa THE -

it obtains from X Ltd. an offer for a further 20% of its capacity.

What should be the minimum price to earn a ‘profit of

T B . os00 TR @ 20 F W TEE Rs. 2,15,000.

W C : 1000 THEA @ 25 % W TEE ' WA WA R 60% F1 60,000 TR fafafia wea
SCIGA Rl aTkIfaeh AT o7 | 7 16 % Wit T G W 395 % W TEE
A A : 640 SEEA @ 20 T WA THE = dA|d o HEE wER T o:

WA B : 960 TEEE @ 15 % ¥ T TEH W s T, W ASEY 165 T, FE SuRedd

A C : 840 THERAT @ 30 T WA THE ' 5% (50% feem), fomt suftema 0.40 (25% wftadefion

P.T.O.
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A factory has estimated its overlieads for the next year at
Rs. 6,00,000. The factory works 246 days in a year. It works
for 8 hours a day. The tota] 'budgeted production- for the year-
is 12,000 units.

Actual data- for the month of October 2017 are given as

under :
Actual Overheads . Rs. 54,000
Actual Output : 1,060 units

Idle time : 5 4 hours

P.T.O.

Calculate :

(0 Overhead cost variance

(i) Overhead expenditure variance

(7iif) Overhead efficiency variance

-

@) - Idle time variance. -
W w T ¥ s o B fery e
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(@)  What is meant by divisional perfbn"nance rnc_:asuremeht ?

Describe ahy_mio t-echniquesr used for this purpose. 8

) l What is transfer pricing ? What are the methods of

" transfer pricing ? Discuss in brief. - e Ui
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Division A of XYZ Co. Ltd. has currently a net income of

Rs. 4,00,000 p.a. generated from an investment of Rs. 20 Iakh-.
The corﬁpany requi'fes a minimum return of 16% p.a. A new
project is beirig considered by the division .managér of A
which will entail investment of -Rs. 2 lakh and will yield annual

net income of Rs. 36,000. Evaluate thejproje_ct using :

(1) ROI method ; 8
(i) Residual income method. = 7
PTO.
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